MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER]

JAL/JTA/JAC/RAC

P R RSB INRERI RSB SREA VBRI TS|
B Fad | BHHQ = BEH BEH BET
4/1-6/30| 2= e 4/1-6/30| 2= e 4/1-6/30| B®A Tt
EMO | KM@ | KME EEES EEES EEES
HRCHE) =% EIEE) JAL _[JTA/RAC 57,100 5% 28,550 52% 36,550 39%
% [HEER) JTA/RAC|JAL/JTA 57,100 5% 28,550 52% 36.550 39%
R CRE)=FRE |Rx(HH) %[ 28 (H5) JAL _|JTA/RAC 61,000 7% 30,500 54% 39,050 41%
PNAGT) JAL JTA 61,000 16% 30,500 58% 39,050 46%
AIER [ EGR) JTA/RAC|JAL/JTA 61,000 7% 30,500 54% 39,050 41%
KIR (FFD) = Z @31 | KRR () %[ == (I H) JAL JAL 44,700 32% 22,350 66% 28,600 56%
LI (BT ) JAL JAL 44,700 31% 22,350 65% 28,600 56%
ESE I ESACET:D) JAL JAL 44,700 32% 22,350 66% 28,600 56%
LR (BT 2) JAL JAL 44,700 31% 22,350 65% 28,600 56%
KR (BFE) = %% 31| KR (B EE) %[ "= (I H) JAL JAL 44,700 32% 22,350 66% 28,600 56%
LI (BT T 2%) JAL JAL 44,700 31% 22,350 65% 28,600 56%
ESE N ESACETD) JAL JAL 44,700 32% 22,350 66% 28,600 56%
IR (BT %) JAL JAL 44,700 31% 22,350 65% 28,600 56%
KR () =Re)Il | KB (FFD % (HH) JAL JAL 42,100 34% 21,050 67% 26,950 58%
JENES ) JAL JAL 42,100 34% 21,050 67% 26,950 58%
KR (BE78) = MBI | KB (BEF) % ) JAL JAL 42,100 34% 21,050 67% 26,950 58%
JENES ) JAL JAL 42,100 34% 21,050 67% 26,950 58%
KIR () =8I [ KB (75 5[ ) JAL JAL 42,600 32% 21,300 66% 27,250 57%
SIEE % ) JAL JAL 42,600 32% 21,300 66% 27,250 57%
KW (BA78) =SIEE [ ARk (BEFR) %[ ) JAL JAL 42,600 32% 21,300 66% 27,250 57%
SR % ) JAL JAL 42,600 32% 21,300 66% 27,250 57%
KB (Y =I5 [ KB (FF) 5[ ) JAL JAL 42,100 33% 21,050 66% 26,950 57%
LT ) JAL JAL 42,100 33% 21,050 66% 26,950 57%
KW (B878) =#/5 [ KBk (BFR) %[ ) JAL JAL 42,100 33% 21,050 66% 26,950 57%
HILFE ) JAL JAL 42,100 33% 21,050 66% 26,950 57%
KIR (FRF}) =BEE | KB (FF) 5[ ) JAL JAL 42,500 23% 21,250 62% 27,200 51%
BRAESE ) JAL JAL 42,500 23% 21,250 62% 27,200 51%
KW (BA7G) =BifE [ ABR (BIFR) %[ ) JAL JAL 42,500 23% 21,250 62% 27,200 51%
BRAESE ) JAL JAL 42,500 23% 21,250 62% 27,200 51%
KR () ==R KRG H[ ) JAL JAL 38,900 27% 19,450 64% 24,900 53%
ZR%E ) JAL JAL 38,900 27% 19,450 64% 24,900 53%
KW (B878) ==iR [ KBz (B7R) %[ ) JAL JAL 38,900 27% 19,450 64% 24,900 53%
ZR% ) JAL JAL 38,900 27% 19,450 64% 24,900 53%
KB () =Rk | KB () 3¢ JAC JAC 21,100 35% 10,550 67% 13,500 58%
[ECES JAC JAC 21,100 35% 10,550 67% 13,500 58%
KR (75 =B F B[ KR FFH) & JAL JAC 33,500 17% 16,750 59% 21,450 47%
JAC JAL 33,500 17% 16,750 59% 21,450 47%
KR (D =25 JAL _|JTA/RAC 44,200 17% 22,100 58% 28,300 47%
JTA/RAC|  JAL 44,200 17% 22,100 58% 28,300 47%
Rz (BG) ==& JTA_|JTA/RAC 44,200 17% 22,100 58% 28,300 47%
B JTA/RAC| JTA 44,200 17% 22,100 58% 28,300 47%
KR (R =R1E [XREFED H[ JAL _|JTA/RAC 49,800 15% 24,900 58% 31,850 46%
AiEE | JTA/RAC| JAL 49,800 15% 24,900 58% 31,850 46%
Kk (B78) =R1E | KMk (BIFE) % JTA_|JTA/RAC 49,800 15% 24,900 58% 31,850 46%
AiEFE JTA/RAC| JTA 49,800 15% 24,900 58% 31,850 46%
2EE (PE) =& E 5| & B (PEh) 5[ LIR BT T &%) JAL JAL 40,900 32% 20,450 66% 26,200 57%
i IR (BT %) JAL JAL 40,900 32% 20,450 66% 26,200 57%
AHE(FE) =25 |2nkE (P85 %48 G JTA_|JTA/RAC 45,300 21% 22,650 61% 29,000 50%
EEE R TE ) JTA/RAC| JTA 45,300 21% 22,650 61% 29,000 50%
AHE(FE) =RE|26E (PH) %48 G JTA_|JTA/RAC 46,500 27% 23,250 63% 29,750 53%
TEE [HRGEH JTA/RAC| JTA 46,500 27% 23,250 63% 29,750 53%
AR TR =/M2 [ CRH) JAL JAL 34,500 39% 17,250 70% 22,100 61%
) JAL JAL 34,500 39% 17,250 70% 22,100 61%
IR TR =R B R [ AR T ) % ) JAL JAL 36,000 44% 18,000 72% 23,050 64%
BIICEES ) JAL JAL 36,000 44% 18,000 72% 23,050 64%
AL (F T ) =R FHT ) % ) JAL JAL 36,000 45% 18,000 73% 23,050 65%
[N ) JAL JAL 36,000 45% 18,000 73% 23,050 65%
IR FTH) =LS[HLIEFHTR R ) JAL JAL 37,000 44% 18,500 72% 23,700 64%
L& % ) JAL JAL 37,000 44% 18,500 72% 23,700 64%
AR F8) = L0 AR G T %) %) ) JAL JAL 43,200 38% 21,600 69% 27,650 61%
MEESTE ) JAL JAL 43,200 38% 21,600 69% 27,650 61%
IR FTH) =HE[LEFHTR R ) JAL JAL 38,500 42% 19,250 71% 24,650 63%
HES ) JAL JAL 38,500 42% 19,250 71% 24,650 63%
IR FTH) =ES[HLIEFHTR R ) JAL JAL 40,100 38% 20,050 69% 25,650 60%
BES ) JAL JAL 40,100 38% 20,050 69% 25,650 60%
IR FTR) =S [ LI FHTR & ) JAL JAL 41,000 37% 20,500 68% 26,250 59%
SHAE ) JAL JAL 41,000 37% 20,500 68% 26,250 59%
#LIR (BT 5%) =& 20 [ 1L B T i) % ) JAL JAL 42,600 36% 21,300 68% 27,250 59%
EHFE ) JAL JAL 42,600 36% 21,300 68% 27,250 59%
ALIR (BT m) =L HLIE T ) % ) JAL JAL 44,900 33% 22,450 67% 28,750 57%
NITES ) JAL JAL 44,900 33% 22,450 67% 28,750 57%
AREFTFR) = LAM[ALEGFFR) % ) JAL JAL 43,200 40% 21,600 70% 27,650 62%
JLAIMFE ) JAL JAL 43,200 40% 21,600 70% 27,650 62%
IR F TR =KH [fLIEFHTR) R ) JAL JAL 43,200 39% 21,600 70% 27,650 61%
ARF ) JAL JAL 43,200 39% 21,600 70% 27,650 61%
IR F TR =RIB[HLIEFHTR R ) JAL JAL 45,300 39% 22,650 70% 29,000 61%
RIS ) JAL JAL 45,300 39% 22,650 70% 29,000 61%
IR (BT ) =RA[fLIE HTR & ) JAL JAL 44,200 39% 22,100 69% 28,300 61%
REAF ) JAL JAL 44,200 39% 22,100 69% 28,300 61%
IR F TR = =B [HLIEFHTR R ) JAL JAL 45,300 37% 22,650 69% 29,000 60%
EEFE ) JAL JAL 45,300 37% 22,650 69% 29,000 60%
IR FHTFR) =BRS[ AR FHTFR) X ) JAL JAL 50,400 32% 25,200 66% 32,250 57%
FREES ) JAL JAL 50,400 32% 25,200 66% 32,250 57%
LR BT 2 = i BB | ALIR (1 F5%) 5[ BLm CRIE) JAL JAL 52,700 31% 26,350 66% 33,750 56%
AR (BAFE) JAL JTA 52,700 32% 26,350 66% 33,750 57%
BEE (PN JAL JTA 52,700 33% 26,350 66% 33,750 57%
EE el JAL JTA 52,700 35% 26,350 67% 33,750 58%
EXACTIEIE GACET=) JAL/JTA|  JAL 52,700 31% 26,350 66% 33,750 56%
AR (BAFE) JTA JAL 52,700 32% 26,350 66% 33,750 57%
BEE (PN JTA JAL 52,700 33% 26,350 66% 33,750 57%
2 JTA JAL 52,700 35% 26,350 67% 33,750 58%
IR FTFR) =RELRFHFR % ) JAL JTA 67,100 30% 33,550 65% 42,950 55%
AIEE ) JTA JAL 67,100 30% 33,550 65% 42,950 55%
ke =% 5 EHEES ) JAL JAL 53,600 33% 26,800 67% 34,300 57%
) JAL JAL 53,600 28% 26,800 64% 34,300 54%
SRS ) JAL JAL 53,600 33% 26,800 67% 34,300 57%
) JAL JAL 53,600 28% 26,800 64% 34,300 54%
=R =8l fakm % ) JAL JAL 53,600 32% 26,800 66% 34,300 56%
JENED ) JAL JAL 53,600 32% 26,800 66% 34,300 56%
12k =% EEGES ) JAL JAL 53,600 31% 26,800 66% 34,300 56%
SR % ) JAL JAL 53,600 31% 26,800 66% 34,300 56%
(RN EEGES ) JAL JAL 53,600 31% 26,800 65% 34,300 56%
HILFE ) JAL JAL 53,600 31% 26,800 65% 34,300 56%
(RS EEGES ) JAL JAL 52,600 25% 26,300 62% 33,650 52%
S ) JAL JAL 52,600 25% 26,300 62% 33,650 52%




MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER] YAL/JTA/IAGIRAC

srait R RSB INRERI RSB SREA VBRI TG
BXFH Bad | BHHQ = BEH BEH BET
4/1-6/30| 1o e 4/1-6/30| 2= e 4/1-6/30) EHH £
EMO | KM@ | XME EEES EEES EEES
B =5 EHEEIESACEED) JAL JAL 45,200 34% 22,600 67% 28,950 58%
KR (£ JAL JAL 45,200 25% 22,600 62% 28,950 52%
2 EVACEE)) JAL JAL 45,200 34% 22,600 67% 28,950 58%
pPNACGEE) JAL JAL 45,200 25% 22,600 62% 28,950 52%
EHEEIESACEED) JAL JAL 44,600 34% 22,300 67% 28,550 58%
pPNACGEE) JAL JAL 44,600 27% 22,300 64% 28,550 54%
ZR%E [EZEA) JAL JAL 44,600 34% 22,300 67% 28,550 58%
KR (£ JAL JAL 44,600 27% 22,300 64% 28,550 54%
1Bk =7E% ERE [ KEREED JAL JAL 43,600 26% 21,800 63% 27,900 52%
&% [ ARED JAL JAL 43,600 26% 21,800 63% 27,900 52%
12k = EHEEIESACEED) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (£ JAL JAL 43,500 23% 21,750 61% 27,850 51%
MEX [EZ@H) JAL JAL 43,500 31% 21,750 65% 27,850 56%
pPNACGEE) JAL JAL 43,500 23% 21,750 61% 27,850 51%
(R EHEEIESACEED) JAL JAL 40,100 20% 20,050 64% 25,650 55%
pPNACGEE) JAL JAL 40,100 27% 20,050 64% 25,650 54%
Wif % [Rm(EE) JAL JAL 40,100 29% 20,050 64% 25,650 55%
pNACGEE) JAL JAL 40,100 27% 20,050 64% 25,650 54%
1B =8 ERE [ KEREED JAL JAL 38,100 27% 19,050 64% 24,400 53%
HR%E [ARED JAL JAL 38,100 27% 19,050 64% 24,400 53%
fakE =/ B |HRCHE) JAL JAL 37,900 37% 18,950 69% 24,250 60%
MMRE  [ERE(CHA) JAL JAL 37,900 37% 18,950 69% 24,250 60%
BRE=2% = ) JTA_|JTA/RAC 39,100 16% 19,550 58% 25,000 46%
) JTA/RAC| JTA 39,100 16% 19,550 58% 25,000 46%
BR=R1E ) JTA_|JTA/RAC 39,800 23% 19,900 62% 25,450 51%
JTA/RAC| JTA 39,800 23% 19,900 62% 25,450 51%
TR =1E5 JAL JAL 30,900 36% 15,450 68% 19,800 59%
JAL JAL 30,900 36% 15,450 68% 19,800 59%
TR =E JAL JAL 31,400 39% 15,700 69% 20,100 61%
JAL JAL 31,400 39% 15,700 69% 20,100 61%
TR =R JAL JAL 32,900 37% 16,450 69% 21,050 60%
= JAL JAL 32,900 37% 16,450 69% 21,050 60%
R = /MR ES e E GG JAL JAL 42,400 35% 21,200 67% 27,150 58%
A EFACTED) JAL JAL 42,400 35% 21,200 67% 27,150 58%
A=At EE | Eft EURS [Rm (E) JAL JAL 46,300 36% 23,150 68% 29,650 59%
%A =FE Wl ESSIE M E GG JAL JAL 46,300 37% 23,150 68% 29,650 60%
ENE A ESACED) JAL JAL 46,300 37% 23,150 68% 29,650 60%
TR S FE R ESEED JAL JAL 49,100 34% 24,550 67% 31,400 58%
HLIR (3 F 5 JAL JAL 49,100 29% 24,550 64% 31,400 54%
Le% [EECRE) JAL JAL 49,100 34% 24,550 67% 31,400 58%
1R (3 T B JAL JAL 49,100 29% 24,550 64% 31,400 54%
TR =HE ESTIES = (HH) JAL JAL 44,700 40% 22,350 70% 28,600 62%
HES = (HH) JAL JAL 44,700 40% 22,350 70% 28,600 62%
iR =40 ESRIES = (HH) JAL JAL 50,900 32% 25,450 66% 32,600 57%
[T = (HH) JAL JAL 50,900 32% 25,450 66% 32,600 57%
TR =H1E ESRIES = (HH) JAL JTA 73,900 28% 36,950 64% 47,300 54%
AIEE = (HH) JTA JAL 73,900 28% 36,950 64% 47,300 54%
B =/ JENIES = (HH) JAL JAL 40,700 35% 20,350 68% 26,050 59%
IMRFE R (HH) JAL JAL 40,700 35% 20,350 68% 26,050 59%
Bl =Faft B R JEIES = (HH) JAL JAL 46,300 34% 23,150 67% 29,650 58%
FIfe RS RS CRE) JAL JAL 46,300 34% 23,150 67% 29,650 58%
FEJII=FEl JENIES = (HH) JAL JAL 46,300 35% 23,150 68% 29,650 59%
[ = (HH) JAL JAL 46,300 35% 23,150 68% 29,650 59%
BI=HE JENIES = (HH) JAL JAL 44,700 39% 22,350 69% 28,600 61%
HES = (HH) JAL JAL 44,700 39% 22,350 69% 28,600 61%
FEJII=#210 JENIES = (HH) JAL JAL 50,900 31% 25,450 65% 32,600 56%
[T = (HH) JAL JAL 50,900 31% 25,450 65% 32,600 56%
fEJI=%R1E JENIE = (HH) JAL JTA 71,900 29% 35,950 65% 46,000 55%
AIEE = (HH) JTA JAL 71,900 29% 35,950 65% 46,000 55%
g =/ SIEEF = (HH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
IMRFE = (HH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
HIEE = B R Pl = (HH) JAL JAL 46,300 34% 23,150 67% 29,650 58%
FIfe RS RS CRE) JAL JAL 46,300 34% 23,150 67% 29,650 58%
flzg=FaAL Pl = (HH) JAL JAL 46,300 35% 23,150 67% 29,650 58%
[N = (HH) JAL JAL 46,300 35% 23,150 67% 29,650 58%
Sk =58 Ell3 = (CRE) JAL JAL 49,100 32% 24,550 66% 31,400 56%
LS = (HH) JAL JAL 49,100 32% 24,550 66% 31,400 56%
HIEE=HE SR % = (HH) JAL JAL 44,700 38% 22,350 69% 28,600 60%
ES = (HH) JAL JAL 44,700 38% 22,350 69% 28,600 60%
g =4x0 FlEE = (HH) JAL JAL 50,900 30% 25,450 65% 32,600 55%
[T = (HH) JAL JAL 50,900 30% 25,450 65% 32,600 55%
Sk ="n1E SR % = (HH) JAL JTA 71,500 29% 35,750 65% 45750 55%
AIEE = (EH) JTA JAL 71,500 29% 35,750 65% 45750 55%
HIR=/MR LT = (CHHE) JAL JAL 40,700 34% 20,350 67% 26,050 58%
INEAZE = (HH) JAL JAL 40,700 34% 20,350 67% 26,050 58%
HIL=FAfLAE BILFE GAERD) JAL JAL 46,300 33% 23,150 67% 29,650 57%
FIfC VRS RS CRE) JAL JAL 46,300 33% 23,150 67% 29,650 57%
L =Rl H 5 5 EAERED) JAL JAL 46,300 34% 23,150 67% 29,650 58%
FEILLFE = (HH) JAL JAL 46,300 34% 23,150 67% 29,650 58%
HLE=HE HIREE = (HH) JAL JAL 44,700 38% 22,350 69% 28,600 60%
HES = (HH) JAL JAL 44,700 38% 22,350 69% 28,600 60%
L =#al LT GAERD) JAL JAL 50,900 30% 25,450 65% 32,600 55%
[T = (HH) JAL JAL 50,900 30% 25,450 65% 32,600 55%
HLh=HE HILFE = (CRH) JAL JTA 70,900 20% 35,450 65% 45,400 55%
AIEE = (HH) JTA JAL 70,900 29% 35,450 65% 45,400 55%
BEE =/ EEEHR = (HH) JAL JAL 35,100 36% 17,550 68% 22,450 59%
IMRFE = (HH) JAL JAL 35,100 36% 17,550 68% 22,450 59%
BfE=ficEE | PftEUESR [Rs(H) JAL JAL 45,300 27% 22,650 64% 29,000 53%
B8 =Fd Ll HEER = (HH) JAL JAL 45,300 28% 22,650 64% 29,000 54%
BN = (HH) JAL JAL 45,300 28% 22,650 64% 29,000 54%
EHE=L5 EEER R (HH) JAL JAL 48,900 24% 24,450 62% 31,300 51%
&% R (HH) JAL JAL 48,900 24% 24,450 62% 31,300 51%
EHE=HE HER [ER(EH) JAL JAL 43,700 32% 21,850 66% 27,950 57%
pPNACGEE) JAL JAC 43,700 27% 21,850 63% 27,950 53%
HEX [EERE) JAL JAL 43,700 32% 21,850 66% 27,950 57%
pPNACGEE) JAC JAL 43,700 27% 21,850 63% 27,950 53%
EEE=H0 HER [EE(HH) JAL JAL 49,800 24% 24,900 62% 31,850 51%
PGS JAL JAL 49,800 13% 24,900 57% 31,850 45%
WLE [ER@H) JAL JAL 49,800 24% 24,900 62% 31,850 51%
KR (£ JAL JAL 49,800 13% 24,900 57% 31,850 45%
EEE=dL M HEER [HF(PH) JAL JAL 52,600 25% 26,300 62% 33,650 52%
JEAME [H=ECRE) JAL JAL 52,600 25% 26,300 62% 33,650 52%
EHE=K% HER [HZCRE) JAL JAL 41,700 39% 20,850 70% 26,700 61%
PGS JAL JAL 41,700 30% 20,850 65% 26,700 55%
K% [EECRE) JAL JAL 41,700 39% 20,850 70% 26,700 61%




MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER]

JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®E = = = =
4/1-6/30 BEM fE  |a/1-6s20 BEM iz |a/1-6s30 TEH s
XD | RRQ@ | XREG EEIES EEIES EEES
EEE=RIE HER [EE(HH) JAL JAL 43,200 40% 21,600 70% 27,650 62%
KR (£ JAL JAL 43,200 35% 21,600 67% 27,650 58%
RIEsE [RERCRE) JAL JAL 43,200 40% 21,600 70% 27,650 62%
pPNACGEE) JAL JAL 43,200 35% 21,600 67% 27,650 58%
EEE=FEK HER [EE(HH) JAL JAL 43,200 38% 21,600 69% 27,650 61%
pPNACGEE) JAL JAL 43,200 33% 21,600 66% 27,650 57%
BA%E |[RRCHA) JAL JAL 43,200 38% 21,600 69% 27,650 61%
KR (£ JAL JAL 43,200 33% 21,600 66% 27,650 57%
=2 HER [EE(HH) JAL JAL 43,200 38% 21,600 69% 27,650 61%
KR (£ JAL JAL 43,200 33% 21,600 66% 27,650 57%
B EEICE JAL JAL 43,200 38% 21,600 69% 27,650 61%
KR (£ JAL JAL 43,200 33% 21,600 66% 27,650 57%
HE=ERS B EVACEED) JAL JAL 44,200 39% 22,100 69% 28,300 61%
pPNACGEE) JAL JAL 44,200 35% 22,100 67% 28,300 58%
BEREX [RR(CHH) JAL JAL 44,200 39% 22,100 69% 28,300 61%
pPNACGEE) JAL JAL 44,200 35% 22,100 67% 28,300 58%
EEE=FH1E HEER = (HH) JAL JTA 64,500 31% 32,250 65% 41,300 56%
AIEE = (HH) JTA JAL 64,500 31% 32,250 65% 41,300 56%
EH=I EHER = (FH) JAL JAL 32,900 39% 16,450 69% 21,050 61%
IMRFE = (HH) JAL JAL 32,900 39% 16,450 69% 21,050 61%
EH=FIAE EHER = (CHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
FIft RS |RE CRE) JAL JAL 37,000 39% 18,500 70% 23,700 61%
HH=mW EHR = (CFH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BN R (HH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
EH=IL5 EHER = (FH) JAL JAL 38,100 39% 19,050 70% 24,400 61%
LE% = (HH) JAL JAL 38,100 39% 19,050 70% 24,400 61%
EH=LOFH EHER = (FH) JAL JAL 40,100 40% 20,050 70% 25,650 61%
WO FER% (RN (FH) JAL JAL 40,100 40% 20,050 70% 25,650 61%
EHR=HE - R ESHEEE)) JAL JAL 37,900 40% 18,950 70% 24,250 62%
pPNACGEE) JAL JAC 37,900 34% 18,950 67% 24,250 58%
HERX [EERE) JAL JAL 37,900 40% 18,950 70% 24,250 62%
pPNACGEE) JAC JAL 37,900 34% 18,950 67% 24,250 58%
EH=HE 5% [EmCEHE) JAL JAL 35,000 43% 17,500 71% 22,400 63%
EE% |[ER(EH) JAL JAL 35,000 43% 17,500 71% 22,400 63%
EH=mn 5% [EmCEE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BR%E |[EREH JAL JAL 37,000 40% 18,500 70% 23,700 61%
HH=mA 5% |[EmCEE) JAL JAL 38,100 40% 19,050 70% 24,400 61%
[ A E SACE=D) JAL JAL 38,100 40% 19,050 70% 24,400 61%
HHxE=L - ESHEEE)) JAL JAL 38,100 40% 19,050 70% 24,400 62%
pPNACGEE)) JAL JAL 38,100 31% 19,050 65% 24,400 56%
WLE [EEEH) JAL JAL 38,100 40% 19,050 70% 24,400 62%
KR (£ JAL JAL 38,100 31% 19,050 65% 24,400 56%
HEHR=IAM EHE [ER(CRHE) JAL JAL 45,200 34% 22,600 67% 28,950 58%
JEAME [H=CRE) JAL JAL 45,200 34% 22,600 67% 28,950 58%
BEHR=KS AR [REOH) JAL JAL 40,100 41% 20,050 70% 25,650 62%
KR (£ JAL JAL 40,100 30% 20,050 65% 25,650 55%
RH%E [RERE) JAL JAL 40,100 41% 20,050 70% 25,650 62%
KR (£ JAL JAL 40,100 30% 20,050 65% 25,650 55%
EH=RK 2 EVACEE)) JAL JAL 43,200 39% 21,600 70% 27,650 61%
KR (£ JAL JAL 43,200 33% 21,600 66% 27,650 57%
RIS [ERCRE) JAL JAL 43,200 39% 21,600 70% 27,650 61%
KR (£ JAL JAL 43,200 33% 21,600 66% 27,650 57%
EHR=RX R ([ER(RH) JAL JAL 41,700 39% 20,850 70% 26,700 61%
pPNACGEE) JAL JAL 41,700 33% 20,850 66% 26,700 57%
RBA%E |[RECHA) JAL JAL 41,700 39% 20,850 70% 26,700 61%
pPNACGEE) JAL JAL 41,700 33% 20,850 66% 26,700 57%
EHR=ER R ([ER(RH) JAL JAL 41,700 39% 20,850 70% 26,700 61%
pPNACGEE) JAL JAL 41,700 33% 20,850 66% 26,700 57%
BN EEICE JAL JAL 41,700 39% 20,850 70% 26,700 61%
pPNACGEE) JAL JAL 41,700 33% 20,850 66% 26,700 57%
EHR=ERE EHRE ([ER(RH) JAL JAL 43,200 39% 21,600 70% 27,650 61%
KR (£ JAL JAL 43,200 34% 21,600 67% 27,650 58%
ERBE [RR(RH) JAL JAL 43,200 39% 21,600 70% 27,650 61%
KR (£ JAL JAL 43,200 34% 21,600 67% 27,650 58%
EHR=AE R (F9E) JAL JTA 62,500 32% 31,250 66% 40,000 57%
3 ) JTA JAL 62,500 32% 31,250 66% 40,000 57%
ZiR=/Ma ) JAL JAL 32,900 38% 16,450 69% 21,050 60%
) JAL JAL 32,900 38% 16,450 69% 21,050 60%
ZR=mEE ) JAL JAL 37,000 38% 18,500 69% 23,700 61%
) JAL JAL 37,000 38% 18,500 69% 23,700 61%
ZiR=FW ) JAL JAL 37,000 40% 18,500 70% 23,700 61%
) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZR=IE8& ) JAL JAL 38,100 39% 19,050 69% 24,400 61%
) JAL JAL 38,100 39% 19,050 69% 24,400 61%
ZR=1LOFH ) JAL JAL 40,100 39% 20,050 70% 25,650 61%
) JAL JAL 40,100 39% 20,050 70% 25,650 61%
ZR=HZE == CRE) JAL JAL 39,000 38% 19,500 69% 24,950 60%
pNACGEE) JAL JAC 39,000 33% 19,500 67% 24,950 57%
HERX [EERE) JAL JAL 39,000 38% 19,500 69% 24,950 60%
pNACGEE) JAC JAL 39,000 33% 19,500 67% 24,950 57%
ZR=15 =R¥E [Em(EE) JAL JAL 35,000 42% 17,500 71% 22,400 63%
EE%E |[ER(EH) JAL JAL 35,000 42% 17,500 71% 22,400 63%
ZR=%#n =R¥E [Em(EE) JAL JAL 37,000 39% 18,500 69% 23,700 61%
BN%E  |[ERGH JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=8H =RE [EmR(EE) JAL JAL 37,000 41% 18,500 70% 23,700 62%
BA%E |[ER(EH JAL JAL 37,000 41% 18,500 70% 23,700 62%
ZiR=# ZiR%E [EZ(EA) JAL JAL 38,100 40% 19,050 70% 24,400 61%
) JAL JAL 38,100 32% 19,050 66% 24,400 57%
) JAL JAL 38,100 40% 19,050 70% 24,400 61%
) JAL JAL 38,100 32% 19,050 66% 24,400 57%
ZiR=4RM ) JAL JAL 44,600 34% 22,300 67% 28,550 58%
) JAL JAL 44,600 34% 22,300 67% 28,550 58%
ZiR=K% ) JAL JAL 40,100 40% 20,050 70% 25,650 62%
) JAL JAL 40,100 32% 20,050 66% 25,650 56%
SFIH) JAL JAL 40,100 40% 20,050 70% 25,650 62%
ZR=F& SFIE) JAL JAL 43,200 39% 21,600 69% 27,650 61%
) JAL JAL 43,200 34% 21,600 67% 27,650 58%
SFIH) JAL JAL 43,200 39% 21,600 69% 27,650 61%
) JAL JAL 43,200 34% 21,600 67% 27,650 58%
ZR=mEX SFIE) JAL JAL 41,700 39% 20,850 69% 26,700 61%
) JAL JAL 41,700 34% 20,850 67% 26,700 58%
SFIH) JAL JAL 41,700 39% 20,850 69% 26,700 61%
) JAL JAL 41,700 34% 20,850 67% 26,700 58%
ZR=Ek SFIE) JAL JAL 41,700 39% 20,850 69% 26,700 61%
) JAL JAL 41,700 34% 20,850 67% 26,700 58%
B EEICE JAL JAL 41,700 39% 20,850 69% 26,700 61%
KR (75 JAL JAL 41,700 34% 20,850 67% 26,700 58%




MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER] YAL/JTA/IAGIRAC

srait R RSB INRERI RSB SREA VBRI TG
BXFH Bad | BHHQ = BEH BEH BET
4/1-6/30| 2= e 4/1-6/30| 2= e 4/1-6/30| B®HA Tt
EMO | KM@ | XME EEES EEES EEES
ZR=ERE ZR%E [EZ(EA) JAL JAL 43,200 39% 21,600 69% 27,650 61%
KR (£ JAL JAL 43,200 35% 21,600 68% 27,650 58%
ERBE [RR(CRH) JAL JAL 43,200 39% 21,600 69% 27,650 61%
R (51 JAL JAL 43,200 35% 21,600 68% 27,650 58%
=R=%AE ZR% = (HH) JAL JTA 62,500 32% 31,250 66% 40,000 56%
AIEE = (HH) JTA JAL 62,500 32% 31,250 66% 40,000 56%
FRE =/ EAX = (HH) JAL JAL 31,800 33% 15,900 67% 20,350 57%
INEASE = (HH) JAL JAL 31,800 33% 15,900 67% 20,350 57%
HE=miEE GES = (HH) JAL JAL 32,900 40% 16,450 70% 21,050 62%
= (HH) JAL JAL 32,900 40% 16,450 70% 21,050 62%
FAE =Fe L = (HH) JAL JAL 32,900 42% 16,450 71% 21,050 63%
= (HH) JAL JAL 32,900 42% 16,450 71% 21,050 63%
ME=LE5 = (HH) JAL JAL 35,000 39% 17,500 69% 22,400 61%
= (HH) JAL JAL 35,000 39% 17,500 69% 22,400 61%
RE=LOFH = (HH) JAL JAL 38,100 37% 19,050 69% 24,400 60%
R (HH) JAL JAL 38,100 37% 19,050 69% 24,400 60%
ME=HE R CHH) JAL JAL 32,900 43% 16,450 71% 21,050 63%
pPNACGEE)) JAL JAC 32,900 39% 16,450 69% 21,050 61%
R CRE) JAL JAL 32,900 43% 16,450 71% 21,050 63%
pPNACGEE) JAC JAL 32,900 39% 16,450 69% 21,050 61%
HE=E5 R CRE) JAL JAL 32,900 41% 16,450 70% 21,050 62%
Hm CRE) JAL JAL 32,900 41% 16,450 70% 21,050 62%
ME=E% Hm CRE) JAL JAL 35,000 37% 17,500 69% 22,400 60%
Hm CRE) JAL JAL 35,000 37% 17,500 69% 22,400 60%
HE=FH Hm CRE) JAL JAL 35,000 39% 17,500 70% 22,400 61%
Hm CRE) JAL JAL 35,000 39% 17,500 70% 22,400 61%
FE=#0 == CRE) JAL JAL 37,000 36% 18,500 68% 23,700 59%
KR (£ JAL JAL 37,000 28% 18,500 64% 23,700 54%
R CRE) JAL JAL 37,000 36% 18,500 68% 23,700 59%
pPNACGEE) JAL JAL 37,000 28% 18,500 64% 23,700 54%
FE=1LRM A% [EFE(FH) JAL JAL 43,500 31% 21,750 65% 27,850 56%
JEAME [H=ECHE) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ME=X% BEFE [EZCRE) JAL JAL 38,100 38% 19,050 69% 24,400 61%
pPNACGEE) JAL JAL 38,100 29% 19,050 65% 24,400 55%
K% [EERE) JAL JAL 38,100 38% 19,050 69% 24,400 61%
pPNACGEE) JAL JAL 38,100 29% 19,050 65% 24,400 55%
HHE=R& MEX [EZEH) JAL JAL 40,100 39% 20,050 69% 25,650 61%
pPNACGEE) JAL JAL 40,100 33% 20,050 67% 25,650 57%
RIE% [ERCRE) JAL JAL 40,100 39% 20,050 69% 25,650 61%
pPNACGEE)) JAL JAL 40,100 33% 20,050 67% 25,650 57%
E=FEX MEAZE [ER(FH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
BA%E |[ERCHA) JAL JAL 40,100 36% 20,050 68% 25,650 59%
KR (£ JAL JAL 40,100 31% 20,050 65% 25,650 56%
HE=2k MEZE [EZ@H) JAL JAL 40,100 36% 20,050 68% 25,650 59%
KR (£ JAL JAL 40,100 31% 20,050 65% 25,650 56%
B EEICE JAL JAL 40,100 36% 20,050 68% 25,650 59%
pPNACGEE)) JAL JAL 40,100 31% 20,050 65% 25,650 56%
HE=ERS MERX [ER(RH) JAL JAL 41,700 36% 20,850 68% 26,700 59%
pPNACGEE)) JAL JAL 41,700 32% 20,850 66% 26,700 57%
ERBE [RR(CRH) JAL JAL 41,700 36% 20,850 68% 26,700 59%
KR (£ JAL JAL 41,700 32% 20,850 66% 26,700 57%
ME=HE [ BEX [ERCHA) JAL JTA 61,100 29% 30,550 65% 39,100 55%
AiE% [RZE(CHA) JTA JAL 61,100 29% 30,550 65% 39,100 55%
TEE=HE &% [ KRUEFF JAL JAC 37,300 33% 18,650 67% 23,850 57%
EET PN JAC JAL 37,300 33% 18,650 67% 23,850 57%
&= EEH | ARUEFD JAL JAL 37,500 30% 18,750 65% 24,000 55%
[T XA )) JAL JAL 37,500 30% 18,750 65% 24,000 55%
EE=K% &R | ARUFD JAL JAL 39,600 29% 19,800 65% 25,350 55%
AR%E [ KKRUFF JAL JAL 39,600 29% 19,800 65% 25,350 55%
EEFE [ KRR JAL JAL 42,700 32% 21,350 66% 27,350 56%
RIGHE [ KEREFR) JAL JAL 42,700 32% 21,350 66% 27,350 56%
EEFE [ KRR JAL JAL 41,100 32% 20,550 66% 26,300 56%
AR [ KR(EFFD JAL JAL 41,100 32% 20,550 66% 26,300 56%
&R [ARED JAL JAL 46,500 23% 23,250 62% 29,750 51%
Hel JAL JAC 46,500 30% 23,250 65% 29,750 55%
BHE [ KRUEFD JAL JAL 46,500 23% 23,250 62% 29,750 51%
Hel JAC JAL 46,500 30% 23,250 65% 29,750 55%
EE=ERE EEE [ KEREED JAL JAL 42,700 33% 21,350 67% 27,350 57%
ERE% [KRWRF JAL JAL 42,700 33% 21,350 67% 27,350 57%
ITTZETNA Nz = (HH) JAL JAL 30,400 26% 15,200 63% 19,450 53%
INEAZE = (HH) JAL JAL 30,400 26% 15,200 63% 19,450 53%
\Lifg = Iz = (HH) JAL JAL 32,900 34% 16,450 67% 21,050 58%
[ = (HH) JAL JAL 32,900 34% 16,450 67% 21,050 58%
W =1R8 Iz = (HH) JAL JAL 33,900 33% 16,950 66% 21,700 57%
L& = (HH) JAL JAL 33,900 33% 16,950 66% 21,700 57%
\Lfz =100 F& Z3 S CRE) JAL JAL 38,100 30% 19,050 65% 24,400 55%
WWOFHE [HR(HH) JAL JAL 38,100 30% 19,050 65% 24,400 55%
Wi =HE IZ N SACT=:) JAL JAL 33,900 34% 16,950 67% 21,700 57%
KR (£ JAL JAC 33,900 35% 16,950 68% 21,700 59%
HEX [EERE) JAL JAL 33,900 34% 16,950 67% 21,700 57%
KR (£ JAC JAL 33,900 35% 16,950 68% 21,700 59%
=185 2 E SACT=:) JAL JAL 32,900 33% 16,450 66% 21,050 57%
S RRCHEA) JAL JAL 32,900 33% 16,450 66% 21,050 57%
WL == N2 E SACT=:) JAL JAL 32,900 33% 16,450 66% 21,050 57%
BR%E |[ERH JAL JAL 32,900 33% 16,450 66% 21,050 57%
Lt =40 2 E SACT=:) JAL JAL 33,900 34% 16,950 67% 21,700 57%
A% |[ER(EH JAL JAL 33,900 34% 16,950 67% 21,700 57%
Wil =#21l 2 E SACT=:) JAL JAL 33,900 34% 16,950 67% 21,700 58%
pNACGEE) JAL JAL 33,900 33% 16,950 66% 21,700 57%
mLE [EREH) JAL JAL 33,900 34% 16,950 67% 21,700 58%
pPNACGEE) JAL JAL 33,900 33% 16,950 66% 21,700 57%
Wz =de A I % [Rm(FE) JAL JAL 40,100 29% 20,050 64% 25,650 55%
JEAME [H=CRE) JAL JAL 40,100 29% 20,050 64% 25,650 55%
Wit =K% Wif % [Rm(EH) JAL JAL 39,100 29% 19,550 65% 25,000 55%
pNACGEE) JAL JAL 39,100 26% 19,550 63% 25,000 53%
K% [RERE) JAL JAL 39,100 29% 19,550 65% 25,000 55%
pNACGEE) JAL JAL 39,100 26% 19,550 63% 25,000 53%
\Life =Kk W% [ERCHEA) JAL JAL 42,200 28% 21,100 64% 27,000 54%
pNACGEE) JAL JAL 42,200 29% 21,100 64% 27,000 54%
RIE% [ER(CRHE) JAL JAL 42,200 28% 21,100 64% 27,000 54%
pNACGEE) JAL JAL 42,200 29% 21,100 64% 27,000 54%
i =geR I Z N VACT=) JAL JAL 40,100 29% 20,050 64% 25,650 55%
pNACGEE) JAL JAL 40,100 30% 20,050 65% 25,650 55%
BAR [EE(RE) JAL JAL 40,100 29% 20,050 64% 25,650 55%
KR (75 JAL JAL 40,100 30% 20,050 65% 25,650 55%




MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER] YAL/JTA/IAGIRAC

srait R RSB INRERI RSB SREA VBRI TG
BXFH Bad | BHHQ = BEH BEH BET

4/1-6/30| 1o e 4/1-6/30| 2= e 4/1-6/30) EHH £
EMO | KM@ | XME EEES EEES EEES
Wi ="E I Z N VACT:) JAL JAL 40,100 29% 20,050 64% 25,650 55%
KR (£ JAL JAL 40,100 30% 20,050 65% 25,650 55%
BN EEICED JAL JAL 40,100 20% 20,050 64% 25,650 55%
pPNACGEE) JAL JAL 40,100 30% 20,050 65% 25,650 55%
I =FERS W% [RE(HH) JAL JAL 42,200 28% 21,100 64% 27,000 54%
pPNACGEE) JAL JAL 42,200 30% 21,100 65% 27,000 55%
ERBE [RR(CRH) JAL JAL 42,200 28% 21,100 64% 27,000 54%
KR (£ JAL JAL 42,200 30% 21,100 65% 27,000 55%
\ifis=Hh1E 2 EEEGICT:) JAL JTA 61,100 23% 30,550 62% 39,100 51%
AiEE [EECHA) JTA JAL 61,100 23% 30,550 62% 39,100 51%
a=mE weas  [XRUEFER JAL JAC 32,900 36% 16,450 68% 21,050 59%
FE PN JAC JAL 32,900 36% 16,450 68% 21,050 59%
fli& =#10 WEs  [XRUEFER JAL JAL 35,000 29% 17,500 64% 22,400 54%
[T PG ) JAL JAL 35,000 29% 17,500 64% 22,400 54%
= A2 )) JAL JAL 37,000 28% 18,500 64% 23,700 54%
KH% [ KREFFD JAL JAL 37,000 28% 18,500 64% 23,700 54%
W& [XRUEFER JAL JAL 40,100 31% 20,050 65% 25,650 56%
I A PNACGIE)) JAL JAL 40,100 31% 20,050 65% 25,650 56%
W&  [XRUEFER JAL JAL 38,100 32% 19,050 66% 24,400 56%
BEA% [ KRR JAL JAL 38,100 32% 19,050 66% 24,400 56%
W& [XRUEFE JAL JAL 40,100 28% 20,050 64% 25,650 54%
EGE PGS JAL JAL 40,100 28% 20,050 64% 25,650 54%
e [XRUEFEM JAL JAL 40,100 32% 20,050 66% 25,650 57%
ERE% [KK{FF JAL JAL 40,100 32% 20,050 66% 25,650 57%
Fic . A PN A E)) JAL JAC 29,800 40% 14,900 70% 19,050 62%
HER [ KREFFD JAC JAL 29,800 40% 14,900 70% 19,050 62%
Fm=H0 KR (R JAL JAL 32,900 30% 16,450 65% 21,050 55%
pNACGEE) JAL JAL 32,900 30% 16,450 65% 21,050 55%
FR=K% KR (R JAL JAL 35,000 30% 17,500 65% 22,400 55%
KR (£ JAL JAL 35,000 30% 17,500 65% 22,400 55%
FR=R& KR (R JAL JAL 38,100 32% 19,050 66% 24,400 57%
KR (£ JAL JAL 38,100 32% 19,050 66% 24,400 57%
FR=FEA KR (R JAL JAL 37,000 31% 18,500 66% 23,700 56%
KR (5 JAL JAL 37,000 31% 18,500 66% 23,700 56%
FR=Ek KR (R JAL JAL 37,000 31% 18,500 66% 23,700 56%
KR (5 JAL JAL 37,000 31% 18,500 66% 23,700 56%
FR=ERS B KB (FFFD JAL JAL 38,100 34% 19,050 67% 24,400 57%
ERE% [KRWFF JAL JAL 38,100 34% 19,050 67% 24,400 57%
NR=TEL INEASE = (HH) JAL JAL 31,100 42% 15,550 71% 19,900 63%
G = (HH) JAL JAL 31,100 42% 15,550 71% 19,900 63%
ME=RE [ RE = (HH) JAL JAL 31,800 41% 15,900 71% 20,350 62%
5% = (HH) JAL JAL 31,800 41% 15,900 71% 20,350 62%
ME=ILOFE | MR R (HH) JAL JAL 35,700 39% 17,850 69% 22,850 61%
O3S (RN (FE) JAL JAL 35,700 39% 17,850 69% 22,850 61%
IME=HE INASE = (HH) JAL JAL 32,400 41% 16,200 70% 20,750 62%
ES] = (HH) JAL JAL 32,400 41% 16,200 70% 20,750 62%
IME=TER INEASE = (HH) JAL JAL 30,300 43% 15,150 71% 19,400 63%
EEE = (HH) JAL JAL 30,300 43% 15,150 71% 19,400 63%
INR=TH INEASE = (HH) JAL JAL 30,400 42% 15,200 71% 19,450 63%
BIFE = (HH) JAL JAL 30,400 42% 15,200 71% 19,450 63%
INR=TH INAZE = (HH) JAL JAL 32,400 41% 16,200 70% 20,750 62%
=A% = (HH) JAL JAL 32,400 41% 16,200 70% 20,750 62%
INR=#10 INEASE = (HH) JAL JAL 32,900 41% 16,450 70% 21,050 62%
[N = (HH) JAL JAL 32,900 41% 16,450 70% 21,050 62%
MR =L TN INEASE = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
EZR I = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
INR=KH INEASE = (HH) JAL JAL 36,700 38% 18,350 69% 23,500 60%
K5 = (HH) JAL JAL 36,700 38% 18,350 69% 23,500 60%
M=Kk INEAZE = (HH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
RIG% = (HH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
IME=FER INEASE = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
REAZ = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
IME=H IR INEAZE = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
Bl = (HH) JAL JAL 37,900 37% 18,950 69% 24,250 60%
MA=ERE [__/Ma%E = (HH) JAL JAL 40,100 36% 20,050 68% 25,650 59%
ERE%E [RZCHHE) JAL JAL 40,100 36% 20,050 68% 25,650 59%
MA=EE IMRFE ) JTA_|JTA/RAC 57,100 5% 28,550 52% 36,550 39%
ERE AR TE) JTA/RAC| JTA 57,100 5% 28,550 52% 36,550 39%
INR=T1E Mg [ERECRE) JAL JTA 61,100 27% 30,550 63% 39,100 53%
PR (BRER) JTA_|JTA/RAC 61,100 7% 30,550 54% 39,100 40%
REEX [EZ(HER) JTA JAL 61,100 27% 30,550 63% 39,100 53%
PR (BRER) JTA/RAC| JTA 61,100 7% 30,550 54% 39,100 40%
BL==% FELLFE [P GBI JTA _[JTA/RAC 44,200 17% 22,100 58% 28,300 47%
8 (B E) JTA/RAC| JTA 44,200 17% 22,100 58% 28,300 47%
&l =R ) JTA _[JTA/RAC 49,800 15% 24,900 58% 31,850 46%
JTA/RAC| JTA 49,800 15% 24,900 58% 31,850 46%
BHM=Ek JAC JAC 28,500 36% 14,250 68% 18,250 59%
JAC JAC 28,500 36% 14,250 68% 18,250 59%
BERB=5H JAC JAC 20,200 27% 10,100 63% 12,950 53%
JAC JAC 20,200 27% 10,100 63% 12,950 53%
BEXE="KERER JAC JAC 17,300 43% 8,650 72% 11,050 64%
5k F JAC JAC 17,300 43% 8,650 72% 11,050 64%
PR (B =& & [RGB [ K= CRE) JAL/JTA]  JAL 47,800 35% 23,900 67% 30,600 58%
pPNACGEE) JAL JAL 47,800 34% 23,900 67% 30,600 58%
2 ESACEE)) JAL JAL 47,800 35% 23,900 67% 30,600 58%
=) JAL JAL 47,800 34% 23,900 67% 30,600 58%
HE (B FIE) JAL/JTA]  JAL 47,800 34% 23,900 67% 30,600 58%
REE ) JAL JAL 47,800 34% 23,900 67% 30,600 58%
PR (BB =FE [RGB #[H ) JAL/JTA|  JAL 46,300 31% 23,150 66% 29,650 56%
) JAL JAL 46,300 33% 23,150 66% 29,650 57%
MEZX [EZ@H) JAL JAL 46,300 31% 23,150 66% 29,650 56%
PGS JAL JAL 46,300 33% 23,150 66% 29,650 57%
PR (B =15 [ (B [ AR F) JAL JAL 47,300 34% 23,650 67% 30,250 58%
=l JTA JAL 47,300 37% 23,650 68% 30,250 60%
EER [ ARGEFED JAL JAL 47,300 34% 23,650 67% 30,250 58%
=l JAL JTA 47,300 37% 23,650 68% 30,250 60%
PR (BB = 1T [ (RE) %Rz CRE) JAL/JTA]  JAL 46,300 24% 23,150 62% 29,650 51%
KR (£ JAL JAL 46,300 32% 23,150 66% 29,650 56%
Wif % [Rm(EEH) JAL JAL 46,300 24% 23,150 62% 29,650 51%
KR (75 JAL JAL 46,300 32% 23,150 66% 29,650 56%
SRR (B =ILE [ RE) [ XK FD) JAL JAL 45,500 32% 22,750 66% 29,100 57%
126 JTA JAL 45,500 38% 22,750 69% 29,100 60%
wex  [XRUEFER JAL JAL 45,500 32% 22,750 66% 29,100 57%
EEE] JAL JTA 45,500 38% 22,750 69% 29,100 60%
PR (ARER) =/M2 [ GRE) %[ CRHE) JAL/JTA] JAL 42,100 35% 21,050 67% 26,950 58%
MAE  [ERFECRA) JAL JAL 42,100 35% 21,050 67% 26,950 58%
IR E) == AEBR R B JTA JAC 32,400 39% 16,200 69% 20,750 61%
B 2k JAC JTA 32,400 39% 16,200 69% 20,750 61%




MR FEMEIS| LEER (4R 1B~6A30AKES) [4A1BLRICCEADZADER]

JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®E = = = =
4/1-6/30 BEM fE  |a/1-6s20 BEM iz |a/1-6s30 TEH s
XD | XA | XREG EEIES EEIES EEES
SRR (B =L AR BB) R  BE JTA JAC 28,700 42% 14,350 71% 18,350 63%
[N 2k JAC JTA 28,700 42% 14,350 71% 18,350 63%
EEC R =S EVACEE I JAL JAC 45,100 29% 22,550 65% 28,850 55%
pPNACGEE) JAL JAL 45,100 25% 22,550 63% 28,850 52%
BEXBE | BERE JAC JAL 45,100 20% 22,550 65% 28,850 55%
pPNACGES) JAL JAL 45,100 25% 22,550 63% 28,850 52%
RRECRE) =ERB|RRCAE) %[ ERE JAL JAC 45,200 30% 22,600 65% 28,950 55%
BEAE JAL JAC 45,200 21% 22,600 61% 28,950 49%
ERBR BER JAC JAL 45,200 30% 22,600 65% 28,950 55%
BEAE JAC JAL 45,200 21% 22,600 61% 28,950 49%
RRCAR) =@zB|RR AR %] _ER JAL JAC 46,300 32% 23,150 66% 29,650 56%
BEAE JAL JAC 47,200 23% 23,600 61% 30,200 51%
(A= BER JAC JAL 46,300 32% 23,150 66% 29,650 56%
BEAE JAC JAL 47,200 23% 23,600 61% 30,200 51%
R (TH) =FkRHB[RFACARAH| EE JAL JAC 48,300 31% 24,150 66% 30,900 56%
Pk RARRE | _BER JAC JAL 48,300 31% 24,150 66% 30,900 56%
BEAE JAC JAL 48,300 25% 24,150 63% 30,900 52%
Bl EEXE | JAC JAC JAL | 48300 38% 24,150 69% 30,900 60%
RRCPAE)=5# [RRPB) | ER JAL JAC 48,700 32% 24,350 66% 31,150 57%
Xt B JAC JAL 48,700 32% 24,350 66% 31,150 57%
BEXE JAC JAL 48,700 28% 24,350 64% 31,150 54%
kBREL | BEXS | JAC JAC JAL 48,700 35% 24,350 68% 31,150 59%
KRR =BEAB| KR (FD | ER JAL JAC 39,700 23% 19,850 61% 25,400 51%
BEEAEH | BIR JAC JAL 39,700 23% 19,850 61% 25,400 51%
KR (P =ERB| KR (P E|_ER JAL JAC 40,100 24% 20,050 62% 25,650 51%
BEAE JAL JAC 40,100 15% 20,050 57% 25,650 45%
ERBRE BER JAC JAL 40,100 24% 20,050 62% 25,650 51%
BEAE JAC JAL 40,100 15% 20,050 57% 25,650 45%
KR (P =BzB| KR (EFD E[_ER JAL JAC 41,200 25% 20,600 63% 26,350 52%
BEAE JAL JAC 42,200 17% 21,100 59% 27,000 47%
(A= BER JAC JAL 41,200 25% 20,600 63% 26,350 52%
BEAE JAC JAL 42,200 17% 21,100 59% 27,000 47%
KR (R =k B3| KR (R | ER JAL JAC 42,800 26% 21,400 63% 27,400 53%
Pk ERARSE | BRI JAC JAL 42,800 26% 21,400 63% 27,400 53%
KR (B =5 [KRFDH| ER JAL JAC 43,300 27% 21,650 64% 27,700 53%
5% BE'R JAC JAL 43,300 27% 21,650 64% 27,700 53%
B =BXXE JAC JAC 31,700 26% 15,850 63% 20,300 53%
JAC JAC 31,700 26% 15,850 63% 20,300 53%
EE=ERE JAC JAC 33,200 25% 16,600 62% 21,250 52%
B} JAC JAC 33,200 22% 16,600 61% 21,250 50%
JAC JAC 33,200 25% 16,600 62% 21,250 52%
B} JAC JAC 33,200 22% 16,600 61% 21,250 50%
EE=fEz8 JAC JAC 33,300 20% 16,650 64% 21,300 54%
B} JAC JAC 33,300 29% 16,650 64% 21,300 54%
(A= BER JAC JAC 33,300 20% 16,650 64% 21,300 54%
BEAE JAC JAC 33,300 20% 16,650 64% 21,300 54%
1ake =ik RER EHGES BE'R JAC JAC 34,900 20% 17,450 65% 22,350 55%
Pk RARRE | _BER JAC JAC 34,900 20% 17,450 65% 22,350 55%
BEXE JAC JAC 34,900 31% 17,450 65% 22,350 56%
Bl EEXE | JAC JAC JAC | 34900 45% 17,450 73% 22,350 65%
12kt =55k EEGES BE'R JAC JAC 35,300 31% 17,650 65% 22,600 56%
Xt B JAC JAC 35,300 31% 17,650 65% 22,600 56%
BEXE JAC JAC 35,300 34% 17,650 67% 22,600 58%
MK RAR | BEKE | JAC JAC JAC | 35300 42% 17,650 71% 22,600 63%
RECAE) =5PERZCAR K[ FHiE JTA RAC 61,100 16% 30,550 58% 39,100 47%
ERER [HRGH) RAC _[JAL/JTA 61,100 18% 30,550 59% 39,100 48%
aia RAC JTA 61,100 16% 30,550 58% 39,100 47%
AR(FFD=5BE] SMEFE [ GEH) RAC JAL 49,900 26% 24,950 63% 31,950 53%
KR (B8 =5ME[ AR @R %] &I\ JTA RAC 49,900 19% 24,950 60% 31,950 48%
CENEE T TEE ) RAC JTA 49,900 26% 24,950 63% 31,950 53%
aia RAC JTA 49,900 19% 24,950 60% 31,950 48%
2EE (P =588 SREX [#&@HH) RAC JTA 49,000 32% 24,500 66% 31,350 57%
12k = 5 AE PR R RAC JTA 44,700 27% 22,350 63% 28,600 53%
ShE (B =5 BE AiE JTA/RAC| RAC 32,600 9% 16,300 54% 20,850 42%
aiE RAC _|JTA/RAC 32,600 9% 16,300 54% 20,850 42%
R CRE) =AXE 8 (B E) JAL _|JTA/RAC 52,600 3% 26,300 51% 33,650 38%
8 (FRER) JTA/RAC|JAL/JTA 52,600 3% 26,300 51% 33,650 38%
KR (D) =AKE 8 (R R) JAL _|JTA/RAC 40,000 15% 20,000 58% 25,600 46%
8 (R E) JTA/RAC| JAL 40,000 15% 20,000 58% 25,600 46%
Kk (BT =AKE 8 (B} JTA_|JTA/RAC 40,000 15% 20,000 58% 25,600 46%
= 8 (B3 JTA/RAC| JTA 40,000 15% 20,000 58% 25,600 46%
2EE (PE) = AKB[2ER (0 %518 () JTA_|JTA/RAC 44,500 14% 22,250 57% 28,500 45%
AKE PR (BRER) JTA/RAC| JTA 44,500 14% 22,250 57% 28,500 45%
BE=AXKE = JTA_|JTA/RAC 33,100 18% 16,550 59% 21,200 48%
JTA/RAC| _JTA 33,100 18% 16,550 59% 21,200 48%




